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i1 [ o HEA 9££b§ r s % & 3 Hit X o R 5 A % D/E.\ 2
O X 4,032 26 3,878 3,978 7,856 R X 4,146 3,981 4,068 8,049
| on R X 4,572 24 5,321 5,496/ 10,817 g | MK 4,679 5,430 5,578 11,008
7 R X 8,359 55 9,081 9,438 18,519 A|g R X 8,491 9,198 9,563 18,761
A | R X 2,433 13 2,452 2,785 5,237 ﬁ B X 2,480 2,498 2,824 5,322
AR X 4,934 31 5,542 5,808 11,350 B R X 4,996 5,603 5,857 11,460
A | Kk H X 8,073 54 8,627 9,391 18,018 A |k HE X 8,167 8,730 9,492 18,222
ReT /R B B (X 4,770 18 5,447 5,817 11,264 e 3/ B 1 (X 4,844 5,526 5,851 11,377
b = H X 2,152 7 2,373 2,520 4,893 b = X 2,174 2,386 2,539 4,925
A 7t 39,325 228 42,721 45,233 87,954 = it 39,977 43,352 45,772| 89,124
I Il B e
R S 114 103 90 193
o1 i ML X 107 109 82 191
47 X 132 117 125 242
O X 47 46 39 85
B H X 62 61 49 110
A | oKk H X 94 103 101 204
ReT 3/ B B (X 74 79 34 113
b I H X 22 13 19 32
= &t 652 631 539 1,170
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EHHOMERR AN GEAEED) s oz
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e m] e A m] e A m]
HT % B 7 X e T 4 RS 7 X e my % LRSS 5 I 3

FE AL AT 1 1 1 2 P T T H 196 217 258 475 ERadin 358 389 419 808
I=5:iL0) 14 15 17 32 P2 T H 253 234 261 495 ERE 615 736 786 1,522
F T 21 22 17 39 PEIM3 T H 217 226 258 484 FHR1ITH 190 230 235 465
BUE T 94 94 99 193 VB R D B A S H 167 144 206 350 FHR2TH 126 144 147 291
FRmT 123 103 124 227 w4 T H 154 174 182 356 FHR3TH 354 384 YA 828
[EN=d) 26 20 31 51 [RIRD H X E 4,146 3,981 4,068 8,049 FHR4TH 26 29 33 62
FHET 32 29 35 64 FRE1TH 253 286 295 581
A T 6 5 4 9 1 TH 135 137 158 295 BRE2TH 76 99 104 203
famy 39 33 48 81 2 TH 217 224 250 474 BRI 1 T H 174 169 172 341
KIHT 13 12 12 24 3 TH 200 302 301 603 BRI 2 T H 49 52 52 104
SR 40 42 47 89 H 2z HHT 206 218 223 441 #EIL1TH 471 463 502 965
FRHE T 27 22 36 58 AKAT 303 337 350 687 w2 TH 62 69 73 142
JHETET 26 24 25 49 i1 TH 1 1 1 2 B4 T H 14 14 19 33
e AH] 60 57 76 133 ik 2 TH 339 519 509 1,028 R 1 T H 349 350 385 735
P P IEIT 31 40 39 79 AR 1T T H 322 340 300 640 FRIF2 TH 352 357 370 727
AvEeEmy 21 26 27 53 AR 2 T H 252 328 325 653 FRIG3TH 250 269 254 523
FEmT 41 56 58 114 MR 3 T H 211 232 251 483 FRIF4TH 287 300 340 640
BN 1) 30 28 31 59 IR 4T H 343 502 490 992 FRIFS TH 188 202 209 411
AR 27 24 28 52 IMAJR 5 T H 241 274 296 570 FRIF6 TH 141 145 145 290
My 24 22 31 53 T 126 138 146 284 HWH1TH 305 420 407 827
AGEL 28 22 35 57 R T 219 233 259 492 HWH2TH 199 258 269 527
T 20 18 15 33 N 293 337 341 678 Ve R R 230 144 218 362
SR RAT 15 18 14 32 LN 224 236 246 482 HFH3TH 297 327 342 669
TH7KET 50 42 52 94 T ST 117 108 128 236 M4 TH 332 338 346 684
= R AT 38 38 A 82 HHET 207 214 233 447 HiH5TH 6 0 [¢) [
W ERBLET 31 25 42 67 Wit 1THE 189 191 209 400 FHRHLX E 8,491 9,198 9,563 18,761
B RAT 123 107 101 208 Wit 2 T H 110 118 112 230

] 5 AT 2 3 4 7 TH1TH 50 54 59 113 W g 73 89 94 183
E9=IN:i} 18 16 19 35 TR2TH 245 236 227 463 H1THE 247 269 290 559
J=YN;i} 161 151 179 330 TR3TH 59 67 79 146 52 TH 238 285 305 590
FeHT 136 112 141 253 KILET 70 84 85 169 i3 TH 35 39 43 82
Sl 110 125 125 250 FRSFHI X G 4,679 5,430, 5,578 11,008 54 TH 224 249 289 538
R AT 271 281 221 502 Him 5 TH 300 319 309 628
T A [ b 124 83 116 199 ORI R 490 499 557 1,056 W2 T H 22 23 24 47
128 7N ARz ik 98 71 118 189 (== 136 154 148 302 B3 T H 16 20 13 33
N1 172 155 112 267 i 2 2 2 4 REETEET 583 551 652 1,203
T mT 246 209 37 246 AMH1TH 322 341 363 704 DR R SR R Hh 179 136 198 334
FIEET 1 TH 94 110 98 208 AM2TH 186 233 238 471 7 [ BFET 408 395 422 817
FIEET 2 TH 248 247 253 500 FE1TH 432 465 506 971 e R B B EE 155 123 185 308
FIEET 3T H 13 9 9 18 HE2TH 463 520 336 856 HR T R X G 2,480 2,498 2,824 5,322
1 [ T 0 0 0 0 HE3TH 323 356 366 722

HET1TH 205 210 177 387 w1 TH 106 99 119 218 pwd i) 1,062 1,258 1,287 2,545
JEHET 2 TH 260 259 205 464 w2 TH 327 355 356 711 [iipdil] 793 863 892 1,755
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s A 5] s A 5] S A H
Y % JLiRG g 7 X e my 4 JLiRG 7 X 5 my 4 LRSS 7 I 5
2 T 1,549 1,716 1,821 3,537
Hz my 1,360 1,504 1,563 3,067
W1 TH 224 254 287 541
PRI 6 T B (BR) 8 8 7 15
e AR B 4,996 5,603 5,857 11,460
K 3,521 3,826 4,100 7,926
>k T 435 486 513 999
o 211 254 279 533
e 919 1,082 1,139 2,221
= 1,181 1,296 1,406 2,702
ESDIIN 58 73 78 151
>k FH [ 574 396 568 964
N1 TH 187 152 177 329
N2 TH 319 343 336 679
N3 TH 100 81 78 159
N4 TH 209 251 273 524
N5 TH 392 431 470 901
e TH 61 59 75 134
ERECKH) 0 0 0 0
>k o XE 8,167 8,730 9,492 18,222
Rl AR E 1,271 1,437 1,538 2,975
et 588 663 672 1,335
b 349 396 422 818
ecoa) 149 183 199 382
R 1,475 1,697 1,813 3,510
el 109 117 118 235
ER 117 128 141 269
i 226 278 280 558
FraRkE 1T H 380 397 441 838
4/ AT 180 230 227 457
TR b < 7 4,844 5,526/ 5,851 11,377
[iizple 559 608 670 1,278
Atk 893 999 1,037 2,036
B 722 779 832 1,611
e X 5 2,174 2,386 2,539 4,925
Ui 39,977 43,352 45,772| 89,124




